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QUESTION 1

Your database instance is started using the server parameter file (SPFILE). You executed a command to 

change the value of the LOG_BUFFER initialization parameter: 

ALTER SYSTEM SET LOG_BUFFER=32M SCOPE=BOTH; 

What would be the outcome of this command? 

A. The command succeeds only if Automatic Memory Management is not enabled. 

B. The command succeeds, but you need to restart the database for changes to take effect. 

C. The command returns an error because the size of the redo log buffer cannot be changed dynamically. 

D. The parameter value is changed and it comes into effect as soon as space becomes available in the System Global
Area (SGA). 

Correct Answer: C 

 

QUESTION 2

The user HR receives the following error while inserting data into the TTK table: 

ERROR at line 1: 

ORA-01653: unable to extend table HR.TTK by 128 in tablespace SMD 

Upon investigation, you find that SMD is a small file tablespace. 

Which three action would allow the user to insert data? (Choose three.) 

A. Add a data file to the SMD tablespace. 

B. Add a data file to the temporary tablespace associated with the user HR. 

C. Resize the data file associated with the SMD tablespace to make it larger. 

D. Alter the data file associated with the SMD tablespace to grow automatically. 

E. Change the segment space management for the SMD tablespace to automatic. 

Correct Answer: ACD 

 

QUESTION 3

View the Exhibits and examine lock waits. Users HR and SH complain that their transactions on one of the application
tables, EMP, are waiting for response. 

Which action would you take to release the lock and enable users HR and SH to continue with their transactions? 
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07 (exhibit): 

08 (exhibit): 

A. Kill the session of the user SCOTT with session ID118. 

B. Issue manual checkpoint using the ALTER SYSTEM command. 

C. Modify the profile used by user SCOTT to reduce the CONNECT_TIME limit. 

D. Flush the Shared Pool to remove the SQL statement causing "wait" in memory. 

Correct Answer: A 

 

QUESTION 4

For which database operation would you need the database to be in the MOUNT state? 

A. Renaming the control files 
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B. Re-creating the control files 

C. Dropping a user in your database 

D. Dropping a tablespace in your database 

E. Configuring the database instance to operate in the ARCHIVELOG or NOARCHIVELOG modes 

Correct Answer: E 

 

QUESTION 5

Which two statements are true regarding a tablespace? (Choose two.) 

A. It can span multiple databases 

B. It can consist of multiple data files 

C. It can contain blocks of different files 

D. It can contains segments of different sizes 

E. It can contains a part of nonpartitioned segment 

Correct Answer: BD 
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